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[59A-Guj]                               No. of printed pages: 4 

SARDAR PATEL UNIVERSITY 

B.COM. (I Semester) EXAMINATION 

Monday, 26
th

 November 2012 

2.30 - 4.30 pm 

UB01CCOM02 : Accountancy - 1 
 

_p¢^: 1. S>dZu bpSy> v$ip®h¡gp Ap„L$X$p âï__p `|fp NyZ v$ip®h¡ R>¡. 
 2. S>ê$f S>Zpe Ðep„ NZsfu õ`ô$ v$ip®hp¡. 

Ly$g NyZ: 60 
 

â.1 Ad_ A_¡ Qd_ 3:1_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ R>¡ s¡Ap¡_u `¡Y$u_y„ 
sp.31-12-2009_p fp¡S>_y„ `pLy$$ kfh¥ey„ _uQ¡ âdpZ¡ lsy„. 

(15) 

 sp.31-12-2009_p fp¡S>_y„ `pLy kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$uMpsp  S>du_-dL$p_ 52000 
Ad_  - 70000 
_d_   - 40000 

 
110000 

ar_®Qf 
õV$p¡L$ 

2000 
50000 

`fQyfZ g¡Zv$pfp¡ 80000 v¡$hpv$pfp¡ 40000 
v¡$hu lw„X$u 20000 g¡Zulw„X$u 6000 
  fp¡L$X$ rkgL$ 60000 
 210000  210000 

 

 s¡Ap¡ sp. 1-1-2010_p fp¡S> _uQ¡_u ifsp¡A¡ "rdg_'_¡ `¡Y$udp„ v$pMg L$fhp k„ds \ep.   
 1. rdg_ _apdp„ 1/5 cpN d¡mhi¡ A_¡ s¡_p cpN_u d|X$u sfuL¡$ `25000/-  fp¡L$X$p gphi¡.  
 2. s¡ `pOX$u sfuL¡$ `12000/- fp¡L$X$p gphi¡ S>¡dp„\u AX$̂ u fL$d Ad_ A_¡ _d_ D`pX$u S>i¡. 
 3. õV$p¡L$ A_¡ ar_®Qf `f 10% Okpfp¡ NZp¡.  
 4. v¡$hpv$pfp¡ A_¡ g¡Zu lw„X$u `f 5% OpgMpÛ A_pds_u Å¡NhpB L$fp¡.  
 5. S>du_-dL$p_dp„ 20% h^pfp¡ NZp¡.  
 6. `¡Y$u kpd¡_p _yL$ip_ A„N¡_p v$php dpV¡$ `2900/-_u Å¡NhpB L$fp¡.  
 7. `fQyfZ g¡Zv$pfp¡ `f `1600/- hV$ph A_pds_u Å¡NhpB L$fp¡.  
 s¥epf L$fp¡: 1. _ap-_yL$ip_ lhpgpMpsy  2. cpNuv$pfp¡_p d|X$uMpsp  
    3. _hu `¡Y$u_y„ `pLy$ kfh¥ey„  
 A\hp  

â.1 "su\®' A_¡ "L$pìe' 2:1_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ R>¡. sp. 31-3-
2011_p fp¡S>_y„ `pLy$ kfh¥ey„ _uQ¡ dyS>b lsy„. 

(15) 

 sp. 31-12-2011_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$uMpsp  qälp¡ëX$ rdëL$s 80000 
su\®    -  120000 
L$pìe   - 80000 

 
200000 

ar_®Qf 
õV$p¡L$ 

24000 
48000 

kpdpÞe A_pds 96000 v¡$hpv$pfp¡ 240000 
g¡Zv$pfp¡ 80000 fp¡L$X$ 8000 
v¡$hu lz„X$u 24000   
 400000  400000 
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 s¡Ap¡ sp.1-4-2011_p fp¡S> _uQ¡_u ifsp¡A¡ "dus'_¡ cpNuv$pfudp„ âh¡i Apàep¡.   
 1. rds `78000/- fp¡L$X$p gphi¡ S>¡dp„\u `36000/- s¡_p cpN_u `pOX$u sfuL¡$ 

NZhp A_¡ S>¡ `¡Y$udp„ fpMu dyL$hp_p R>¡. 
 

 2. s¡ _apdp„ 1/8 cpN d¡mhi¡.   
 3. v¡$hpv$pfp¡ `f `% OpgMpÛ A_pds fpMhu.  
 4. ar_®Qf `f `% Okpfp¡ NZp¡.  
 5. õV$p¡L$_u qL„$ds `42000/- NZhu.  
 6. rds_u d|X$u_¡ Ap^pf sfuL¡$ gB, S|>_p cpNuv$pfp¡_u d|X$u s¡Ap¡_p _hp _ap-

_yL$ip__p âdpZdp„ fpMhu. Ap dpV¡$ S>ê$fu lhpgp fp¡L$X$dp„ _pMhp. 
 

    S>ê$fu MpspAp¡ s\p rds_p âh¡i `R>u_y„ `pLy$ kfh¥ey„ s¥epf L$fp¡.  
   

â.2 âL$pi, AS>e A_¡ Ly$dpf 4:3:3_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ R>¡.  
sp.31-3-2012_p fp¡S>_y„ s¡d_y„ `pLy$ kfh¥ey„ _uQ¡ dyS>b lsy„. 

(15) 

 sp.31-03-2012_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$u  dL$p_ 60000 
âL$pi  -    45000 
AS>e  - 35000 
Ly$dpf  -     28000 

 
 

108000 

ar_®Qf 
e„Ó 
õV$p¡L$ 

35000 
28000 
11000 

_ap-_yL$ip_ Mpsy 12000 v¡$hpv$pfp¡   18000  
âp¡rhX$ÞV$ a„X$ 10000 -Op.A_p.    300 17700 
b¢L$ gp¡_ 7000 g¡Zu lz„X$u 9000 
v¡$hu lz„X$u 12000 fp¡L$X$ rkgL$ 19300 
g¡Zv$pfp¡ 25000   
Q|L$hhp_p¡ bpL$u `Npf 6000   
 180000  180000 

 

 D`fp¡L$s spfuM¡ _uQ¡_u ifsp¡A¡ AS>e r_h©Ñ \ep.  
 1. âL$pi A_¡ Ly$dpf kfMp âdpZdp„ _ap¡-_yL$ip_ hl¢Qi¡.  
 2. L$pedu rdëL$sp¡dp„ 20% h^pfp¡ L$fp¡.  
 3. v¡$hpv$pfp¡ `f `% ky^u OpgMpÛ A_pdsdp„ h^pfp¡ L$fp¡.  
 4. `¡Y$u_u `pOX$u_u qL„$ds `18000/-  Ap„L$hpdp„ Aphu S>¡ r_h©rÑ bpv$ dp„X$uhpmp¡.  
 `. _hu `¡Y$u_u Ly$g d|X$u  `200000/- fpMhu. Ap d|X$u cpNuv$pfp¡A¡ s¡d_p _hp 

_ap-_yL$ip__p âdpZdp„ fpMhu. S>ê$fu lhpgp fp¡L$X$dp„ _pMhp. 
 

 6. AS>e_u bpL$u _uL$msu fL$ddp„\u `30000/- `¡Y$udp„ gp¡_ sfuL¡$ fpMhp A_¡ 
bpL$u_u fL$d fp¡L$X$dp„ Q|L$hhu. 

 

  D`f_u rhNsp¡ `f\u S>ê$fu Mpsp s\p AS>e_u r_h©rÑ bpv$_y„ `pLy$ kfh¥ey„ s¥epf L$fp¡. 
 A\hp  

â.2 A) _ap-_yL$ip_ lhpgpMpsy _dy_p krls kdÅhp¡. (08) 
 b) _p¢^ gMp¡. (L$p¡B`Z b¡) (07) 
  1. cpNuv$pfp¡_p âh¡i kde¡ c¡Np \e¡g _ap L¡$ _yL$ip__u hl¢QZu  
  2. r_h©Ñ \sp cpNuv$pf_¡ Q|L$hhp_u \su fL$d  
  3. cpNuv$pf_p âh¡i kde¡ `pOX$u_u Apd_p¢^p¡.  
  4. cpNuv$pf_u r_h©rÑ kde¡ _hy„ _ap-_yL$ip__y„ âdpZ.  
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â.3 fpS> A_¡ frh 2:1_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ R>¡. s¡Ap¡A¡ sp. 31-12-
10_p fp¡S> `¡Y$u_y„ rhkS>®_ L$fhp_y„ _L$L$u L$ey®„ S>epf¡ `pLy$ kfh¥ey„ _uQ¡ âdpZ¡ dyS>b lsy„. 

(15) 

 sp.31-12-2010_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$u  S>du_-dL$p_ 64000 
fpS>  -      68000 
frh  -      49000 

 
117000 

e„Ó 
õV$p¡L$ 

70000 
20000 

fpS>_u gp¡_ 40000 v¡$hpv$pfp¡   25000  
kpdpÞe A_pds 3000 -Op.A_p.  1000 24000 
g¡Zv$pfp¡ 70000 g¡Zu lz„X$u 34000 
b¢L$gp¡_ 10000 fp¡L$X$ rkgL$ 22000 
  _ap-_yL$ip_ Mpsy 6000 
 240000  240000 

 

 h^pfp_u dprlsu:  
 1. rdëL$sp¡_p _uQ¡ âdpZ¡ D`Äep: 

 S>du_ dL$p_ `80000/-, v¡$hpv$pfp¡ `14000/-, õV$p¡L$ `10000/-, g¡Zu lz„X$u 
 `28000/- . 

 

 2. e„Ó `76000/- dp„ fpS> gB Nep.  
 3. frh b¢L$gp¡_ Q|L$hhp k„ds \ep.  
 4. g¡Zv$pfp¡_¡ Q|L$s¡_p rlkpb¡ `65000/- Q|L$ìep.  
 5. _rl _p¢^pe¡g A¡L$ rdëL$s_p `10000/- D`Äep.  
 6. _rl _p¢^pe¡g S>hpbv$pfu_p `5000/- Q|L$ìep.  
 7. rhkS>®_ MQ® `12000/- \ep¡.  
  `¡Y$u_p Qp¡`X$p b„^ L$fhp S>ê$fu Mpsp s¥epf L$fp¡.  
 A\hp  

â.3 P, Q A_¡ R A_y¾$d¡ 3:2:1_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ R>¡. s¡Ap¡A¡         
sp.31-03-2010_p fp¡S> `¡Y$u_y„ rhkS>®_ L$fhp_y„ _L$L$u L$ey®„ s¡ spfuM¡ `¡Y$u_y„ `pLy$ kfh¥ey„ 
_uQ¡_u dprlsu v$ip®hsy lsy„. 

(15) 

 sp.31-03-2010_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$u  S>du_-dL$p_ 120000 
P  -       190000 
Q  -    7000 
R  -        3000 

 
 

200000 

e„Ó 
õV$p¡L$ 
fp¡L$X$ 

90000 
28000 
11000 

kpdpÞe A_pds 18000 `¡V$ÞV$ 2500 
g¡Zv$pfp¡ 30000   
v¡$hu lz„X$u 3500   
 251500  251500 

 

 AÞe dprlsu:  
 1. rdëL$sp¡_p _uQ¡ âdpZ¡ D`Äep: 

 S>du_ dL$p_ `100000/-, e„Ó `80000/-, õV$p¡L$ `23000/-. 
 

 2. g¡Zv$pfp¡_¡ Q|L$s¡_p `26500/- Q|L$ìep.  
 3. A¡L$ S>hpbv$pfu S>¡ `¡Y$u_p Qp¡`X¡$ _p¢^pe¡g _ lsu s¡_p `5000/- Q|L$ìep.  
 4. rhkS>®_ MQ® `3000/- \ep¡.  
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  cpNuv$pf  Q A_¡ R b„_¡ _pv$pf Ål¡f \ep Q_u A„Ns rdëL$sdp„\u ê$r`e¡ 60 
`¥kp g¡M¡ A_¡  R_u A„Ns rdëL$sdp„\u ê$r`e¡ 40 `¥kp g¡M¡ hk|g \ep. 

 

  `¡Y$u_p Qp¡`X$p b„^ L$fhp S>ê$fu Mpsp s¥epf L$fp¡ s\p d|X$u s|V$_u NZsfu v$ip®hu s¡ 
A„N¡_u Apd_p¢^ `Z gMp¡. 

 

   

â.4 îÝ^p, Apip A_¡ rhïhpk A_y¾$d¡ 5:3:2_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ 
R>¡. s¡Ap¡A¡ sp.31-12-2011_p fp¡S> `¡Y$u_y„ rhkS>®_ L$fhp_y„ _L$L$u L$ey®„ s¡ spfuM¡ `¡Y$u_y„ 
`pLy$ kfh¥ey„ _uQ¡ dyS>b_u dprlsu v$ip®h¡ R>¡. 

 

 sp.31-12-2011_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$u  dL$p_ 80000 
îÝ^p     - 55000 
Apip     - 25500 
rhïhpk  -  20000 

 
 

100500 

e„Ó 
ar_®Qf 
õV$p¡L$ 

50000 
20000 
18000 

L$pfuNf AL$õdps 
hmsf c„X$p¡m 

 
35000 

fp¡L$X$$ 15000 

Apip_u gp¡_ 17500   
b¢L$gp¡_ 10000   
g¡Zv$pfp¡ 20000   
 183000  183000 

 

 rdëL$sp¡_p _uQ¡ âdpZ¡ làspdp„ D`Äep„  
 làsp: `l¡gp¡ `25000/-, buÅ¡ `35000/-, ÓuÅ¡ `23000/-, Qp¡\p¡  `18000/- 
 rhkS>®_ MQ® A_pds `¡V¡$ `3000/- AgN fpMp¡ S>¡ Mf¡Mf \ep¡ A_¡ QL$ìep¡.  
 "d|X$u h^pfp_u `Ùrs' A¡ cpNuv$pfp¡ hÃQ¡ fp¡L$X$_u làs¡ làs¡ hl¢QZu v$ip®hsy `ÓL$ s¥epf L$fp¡. 
 A\hp  

â.4 
(A) 

 
L$fyZp, Apõ\p A_¡ â¡fZp A_y¾$d¡ 3:2:1_p âdpZdp„ _ap¡-_yL$ip_ hl¢Qsp cpNuv$pfp¡ 
R>¡. s¡Ap¡A¡ sp.31-3-2012_p fp¡S> `¡Y$u_y„ rhkS>®_ L$fhp_y„ _L$L$u L$ey®„ s¡ qv$hk¡ `¡Y$u_y„ 
`pLy$ kfh¥ey„ _uQ¡ dyS>b `qf[õ\rs v$ip®h¡ R>¡. 

 
(10) 

 sp.31-3-2012_p fp¡S>_y„ `pLy$ kfh¥ey„  
 

d|X$u-v¡$hp fL$d ` rdëL$s g¡Zp fL$d ` 
d|X$u  `fQyfZ rdëL$sp¡ 90000 
L$fyZp    - 25000 
Apõ\p   - 20000 
â¡fZp    -  13000 

 
 

58000 

fp¡L$X$ 
_ap-_yL$ip_ Mpsy 

10000 
12000 

 
L$fyZp_u gp¡_ 8000   
kpdpÞe A_pds 24000   
g¡Zv$pfp¡ 22000   
 112000  112000 

 

 rdëL$sp¡_p _uQ¡ âdpZ¡ làspdp„ D`Äep„  
 làsp `l¡gp¡  `20000/-,  buÅ¡ `24000/-, ÓuÅ¡ ` 22500/-.  
 rhkS>®_ MQ® A_pds `¡V¡$ `4000/- AgN fpMp¡. Mf¡Mf rhkS>®_ MQ® `2500/-\ep¡. 
 dlÑd _yL$ip__u `ÙrsA¡ cpNuv$pfp¡ hÃQ¡ fp¡L$X$_u làs¡ làs¡ hl¢QZu v$ip®hsy `ÓL$ s¥epf L$fp¡.  

(b) "d|X$u h^pfp_u `Ùrs' `f _p¢^ gMp¡. (05) 
 


